Mathematical Structures and Place Value Knowledge Organiser
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three million, nine hundred and twenty-six thousand,
four hundred and seventy-one
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999,000 (999 thousands)

| 1,000,000 (1,000 thousands)

10 = 10 ones = 1 ten

100 = 100 ones = 10 tens Number sense: How
1,000 = 1,000 ones = 100 tens = 10 hundreds big is a million?
10,000 = 10,000 ones = 1,000 tens = 100 hundreds = 10 thousands

100,000 = 100,000 ones = 10,000 tens = 1,000 hundreds = 100 thousands = 10 ten thousands
1,000,000 = 1,000,000 ones = 100,000 tens = 10,000 hundreds = 1,000 thousands = 100 ten thousands
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